761  $A = C^{1}6 + C^{2}6$ y = 2 C1 e 2x - C2e y = 40,e2x+02e-x  $y'' - y' - 2y = (yc_1e^{2x} + c_2e^{-x}) - (2c_1e^{2x} - c_2e^{-x})$  $-2\left( C_{1}e^{2x}+C_{2}e^{-x}\right)$  $= (4c_1 - 2c_1 - 2c_1e^2x) + (c_2 + c_2 - 2c_2)e^2 = 0$ =) y is a solution of the equation The equation is second order, linear. Abz. (a) f(x,y)z(x+y)/zof - (x2+y2)/2 not continuous

at the origin. =) IVP has a unique solution as long as the initial point is not of the (b)  $f(x,y) = \frac{x-y}{x+y}$  - solution is yhighe as long as the initial point is not on y = -x.

Pb3. (a) 
$$\frac{dy}{dx} = \frac{y}{x^2}$$

$$\int \frac{dy}{dx} = \int \frac{dx}{x^2} = \int \ln|y| = -\frac{1}{x} + C$$

(b)  $\frac{y}{dx} + \frac{y^2}{x^2} = \int \ln|y| = -\frac{1}{x} + C$ 

(c)  $\frac{dy}{dx} = -\frac{y^2}{x^2} = \int \ln x \, dx = \int -\frac{1}{y} = \cos x + C$ 

(e)  $\frac{dy}{dx} = -\frac{1}{x^2} + x + \frac{y^2}{x^2} + x + \frac{y^2}{x^2} = \int (1+x)(1+y^2) \, dx$ 

$$\frac{dy}{dx} = -\frac{1}{x^2} + x + \frac{y^2}{x^2} + x + \frac{y^2}{x^2} = \int (1+x) \, dx$$

$$\frac{dy}{dx} = -\frac{1}{x^2} + x + \frac{y^2}{x^2} + x + \frac{y^2}{x^2} = \int (1+x) \, dx$$

$$\frac{dy}{dx} = -\frac{1}{x^2} + x + \frac{y^2}{x^2} + x + \frac{y^2}{x^2} = \int (1+x) \, dx$$

$$\frac{dy}{dx} = -\frac{1}{x^2} + x + \frac{y^2}{x^2} + x + \frac{y^2}{x^2} + \frac{y^2}{x^2} = \int (1+x) \, dx =$$

Pby. (a) 
$$x^{2}y' + 3xy = \frac{516x}{x}$$
,  $x > 0$ 
 $y' + \frac{3}{x}y = \frac{516x}{x^{3}} = \frac{1}{x} + \frac{1}{x} = \frac{1}{x} = \frac{1}{x} + \frac{1}{x} = \frac{1$ 

$$= \frac{3}{3}e^{3x} - \frac{1}{9}e^{3x} + C =$$

$$e^{3x}y = e^{x} + \frac{x}{3}e^{3x} - \frac{1}{9}e^{3x} + C$$

$$e^{3x}y = e^{x} + \frac{x}{3}e^{3x} - \frac{1}{9}e^{3x} + C$$

$$e^{-2x}y = \frac{x^{3}}{3} + C$$

$$e^{-2x}y =$$

$$e^{2il} \cdot 0 = \frac{1}{2} + C = |C = -\frac{1}{2}$$

$$e^{2x}y = \frac{x^{2}}{2} - \frac{1}{2} |$$

$$(b) y' = \frac{2x}{3+x^{2}y} y y(0) = -2$$

$$\frac{dy}{dx} = \frac{2x}{3+x^{2}y} | y(0)$$

$$0 = -\frac{1}{2} + C = c = \frac{1}{2}$$

$$\frac{1}{3} \sin 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{2} \cos 2x + \frac{1}{2} /$$

$$\frac{1}{5} \cos 3y = \frac{1}{5} \cos 3x + \frac{1}{5}$$

Pb12: 
$$y_1 = e^{2x}$$
  $y_2 = e^{-x}$   $y_3 = e^{x}$ 
 $y_1' = 2e^{2x}$   $y_2' = e^{-x}$   $y_3' = e^{x}$ 
 $y_1'' = 4e^{2x}$   $y_2'' = e^{-x}$   $y_3'' = e^{x}$ 
 $y_1'' = 8e^{2x}$   $y_2''' = -e^{-x}$   $y_3''' = e^{x}$ 
 $y_1'' = 2y_1'' - y_1 + 2y_1 = 8e^{-x} - 2 \cdot 4e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_2'' - 2y_2'' - y_2 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} - 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} + 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} + 2e^{-x} + 2e^{-x} + 2e^{-x} = 0$ 
 $y_3'' - 2y_3'' - y_3 + 2y_3 = e^{-x} - 2e^{-x} + 2e^{-x$ 

Pb13: 
$$f_1 = x^2$$
,  $f_2 = 2x^2 - 3x$ ,  $f_3 = x$ ,  $f_4 = ($ 

=)  $f_2(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_4(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x) - 3 f_3(x)$ 

=)  $f_3(x) = 2f_1(x) + 0 f_2(x)$ 

=)  $f_3(x) =$